
A circle has a diameter of 12 inches. what is the area of the shaded section.
use 3.14 as pi. no a,b,c,d just an exact answer thanks
Answer 1
Answer:

Answer:

Area of shaded section is 113.04

Step-by-step explanation:

Area of circle is calculated by formula A=\pi r^(2)Image not found or type unknown.

where 'r' is radius.

here given diameter is 12 inches .

so radius is calculated as  r=(d)/(2)=(12)/(2)=6Image not found or type unknown

and value of \piImage not found or type unknown is 3.14

so, Area is ;

A=\pi r^(2)Image not found or type unknown

Put value of \pi =3.14Image not found or type unknown and r=6 inches

A=3.14*6^(2)Image not found or type unknown

A=3.14*36Image not found or type unknown

A=113.04Image not found or type unknown

Hence, area of shaded section is 113.04



Answer 2
Answer: A = pi r ^2
A = 3.14(6^2)
A= 3.14 (36)
A = 113.04

MATHEMATICS   MIDDLE SCHOOL 

1. Home
2. a-circle-has-a-diameter-of-12-inches-what-is-the-area-of-the-shaded-section-use-3-14-as

http://antiselfie.club/subject/mathematics
http://antiselfie.club/grade/middle_school
http://antiselfie.club
http://antiselfie.club/answers/9497506-a-circle-has-a-diameter-of-12-inches-what-is-the-area-of-the-shaded-section-use-3-14-as

